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Q1:- fF=faRad § 9 si9—d1 Wf¥r |fesr =8 53—

Which of the following is not a vector quantity-
(A). fazemus / Displacement
B). a1 / Velocity
(C). sa1 / Force

D). smaa= / Volume

E). ST & ¥ N T/ A ¥ 5 A o



Q2:- 9Sr & HAT AR T & IJqUT H DI —AF
Hifde IR ura @ it 21/ Which physical

quantity is obtained in the ratio of momentum

and velocity of matter -
(A). a / Velocity B). @ / Acceleration
(C). sgv= / Volume D). a1 / Force

E). STgF | | FI3 o ATH ¥ 9 b A A



Q3:- a9 Sl H SHoil BT DA A1 ©Y AT SHoil |
gRRafdd 8T 8—/

Which form of energy is converted into
electrical energy in wind energy -

(A). wfast Sait / Kinetic Energy
B). Rafa &<t / Potential Energy
C). ¥k &et  / Solar Energy

D). fafevor st / Radiation Energy

E). ST 7 & B ol AWH A 9 W q IS



Q4:- dSh TR T+ DI VLT g% TR AT Hfo B,
Fiifr —

It's harder to walk on snow than on the road, because

A). % T ¥ |& 8l 8/ Snow is harder then Road

B). ¥s® Iv ¥ G Bl ©/ Road is harder then snow

(C). 519 &0 3 R | 9gdHl <d €, O % Dig GfAfhar uad T8l
o3l / Snow doesn't react when we push with our feet

D). 3% & Ts& I Ve °TYT HH BT &/ Friction is less in snow

E). S & & #iE T /Svgw § ¥ 0 q A



Q5:- 91 @ P! g8 IR MR T8 St Rifd —

The Leaning Tower of Pisa does not fall because-

(A). 98 MY 91T % uaelt 8 7% &/ Itis thinner at the Top.

B). 98 I8 T &I B IIed el = /It cover a large floor area

(C). saa@T [N o v Refa # <gar 8/ Its center of gravity
remains at the lowest position

D). T B | M dlell HEER & a8 9 S &l 8
The vertical line passing through the center of gravity lies inside
the plane

E). S & & i T /SgH H ¥ & 4 D




Q6:- A9 INR BT YR BT &

The weight of the human body is

A). gai = sifdwaqw / Maximum at the poles

(B). gedl @I Hdg W |4 SHIE Ud AAI/ Same everywhere on the
earth surface.

(C). fayaa var w =aw / Lowest at the equator

(D). #SFT ¥R & 3ver ydal uR siftrs / More on the mountain
then on the plains

E). ST & q #E T /cdw § § w A Ji®



Q7:- I gt iR [ & O O 3 SHb WIE W IAAT BT, A
I gRT gl R [EHAHYY 9 S ISl & 98 2l —

If the distance between the earth and the sun were twice as high, the
gravitational force exerted by the sun on the Earth is -

(A). 39 fSra=r 2 S9a1 <A/ Double from now
B). 31« fora=r 3 SHaT IR 1 / Four time from now
(C). 3§ fora=m g SH@I drem |t/ One forth from now
(D). 3@ fora=m g SHar emem 9/ half from now

E). S & § 9 7E/Suw & A & A aR®




Q8:- T T B I A WX 60 fHhuT B, T==AT W S IK] @l
SIHN BRTT—

The mass of an object is 100 kg on the earth, the mass of that object
on the moon will be -

(). 60 kg B). 10 kg
(C). 360 kg D). 6 kg
E). SF & ¥ B¢ /ST ¥ ¥ W dR®



Q9:- TP €] I W 931 RART # [T A <2 | S P B
Ts 8 oM R Yaid 3mdata — A girl is swinging on the

swing in a sitting position .When the girl is stand up then oscillation
period Is -

(A). =9 = eI/ Will decrease

B). a1f¥® =1 e/ Will increase

(C). sufRafcda @ / Will be same

D). s & SHarg ) R wxr| /Will Depend on the height of girl

E). S & § 9 7E/Suw & A & A aR®



Q10:- R P 97 o1 8 Bl ufd ADve & T | IR H BT
e & @r 8rm— What will happen is an object is thrown

into space with a velocity of 8 km per second-

(A). a8 a%q faRer § et smesft/ That object will go into space
B). a8 amuw gedt wR a R/ That will fall back to earth
(C). a8 YAl & aARI IR Hem § uRpAT v o it/ It will start

orbiting around the earth
D). a8 wc gt / That will explode

E). ST & q #E i /awdE ¥ §  q 9RS



Q11:- 997 & § B MATDHR ATRfa BT HROT T — The reason for

the spherical shape of a rain drop s -

(A). =@ &1 g / Density of the liquid

B). g a=ra/ surface Tension

(C). argHs<im <19 / Atmospheric pressure
D). 71ma / Gravitation

(E). Sw 4 | 3R &AW ¥ 4 Th | e



Q12:- fA=ferRad & 9 f59 v & fow HRea THAT SR 81 &

Which one of the following, capillarity is not the only reason
for -

(A). == &1 |rasT/ ink adsorption
B). 9qi#ra Stet @1 SR =T / Rise of underground water
C). it ®us W It Dt §g &1 et/ Water drop on cotton cloth
D). 9 F SISf § ST BT 9D IR B AR T+
Water flow from the root of a plant to it foliage

E). sdw & 9 B¢ T /Svw ¥ 4 @ q 9R®



Q13- g BT MUfdre T9wg Haiftie fA=forfRad aT IR 2ar 28—

The relative density of water is highest at the following

Temperature
A). 0°C B). 4°C
(C). 50°C D). 100°C

E). ST & § B¢ TE/Sw ¥ ¥ @ q 9R®



Q 14:- FBNVS BT g9 IR g1 28—

The weakest force in the universe is -

(A). iAo 91/ Nuclear Force

B). == 91/ Magnetic Force
(C). amvszarar 91 / Van der Waals Force

D). To<d@ g1 / Gravitational Force
E). ST & § #E & /AEE ¥ ¥ A o




Q15:- Bd W o UM @ SHl BT A 91 & LA S99 RIRA dred
gl A DI — IR B @

After the water tank on the roof is over , which type of
motion in falling water -

(A). =i wfa / Translatory motion
B). &= wfa / Vertical motion

(C). amadt w1fa / Periodic motion

D). g<ira w1t / Circular motion

E). Sm &  #E T /Adw ¥ ¥ w 9w
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